%0X40"/Treg

[T

skskskosk B
skksksk
kk
skksk
%k
(0  kdkx Kook k *okokk *okok ok
60
* T ®
40 .. . o 3
201 0 ekl R _t_ .
& &
CD39 CD39° CD39" CD39" CD39° CD39° CD39 CD39*
CTRL SEPSIS SIRS PED %0X40"/Treg
OCD39" D o CTRL
OCD39 s SEPSIS
" 50100- + SIRS r=0.7265
80 * o ok
F (e}
& & 80
E 60 ® Q 8 ol .
e <
S 40 s R Oa
N T [N
20 — .
O 20 o0
2 ™ g 8 2% o "
0 X 9
CTRL SEPSIS SIRS 0 20 40 60
%0X407/CD39'Treg
F o CTRL
2500 OoCD39* o SEPSIS
) DCD3% gp. - SIRS o r=05952
= 2000 o o . sk
;2 T 8)06() o o 7
O 1500 § 1 A P
E S g 40, La ,CZD”’/’
= 1000] = < o0
T = 20t et 1
5001 __ - L 5 %o
W - S
+TNFa. +TNFa. 0 }L_33%g/m13 4
Treg Tconv

Figure 2



